0sS.

Missing Number/Letter/Term/Figure

1. Find the next number according to given series
below.
26, 29, 33, 38,
(a) 54 (b) 50
(c) 44 (d 42

RRB Group-D - 26/09/2018 (Shift-I)
Ans : (¢) By adding one digit each to the given numbers
step by step. You will get the next number in the series.
26+3=29
29+4=33
33+5=38
38+6
2. Complete the series by choosing missing
number
59967, 59964, 59961, 59958,
(a) 59957 (b) 59954
(c) 59955 (d) 59956
RRB Group-D - 26/09/2018 (Shift-I)

Ans : (¢) The following series is the given number.

59964, 59961, 59958,

59967,

(a) 52, 61 (b) 52, 59
(c) 50, 59 (d) 50, 61
RRB Paramedical 21.07.2019 Shift : 11

Ans. (b) : Following series is

missing numbers are 52 and 59.

20, 27, 36, 43, T? 68, 75
|+9|+7|+9|+7|+9 +9 +7|

5.

Complete the number series by choosing
missing number from options.
32, 64, 256, 1536, ?, 122880, 1474560

Hence, the missing therm will be 12288.

(a) 12285 (b) 12288
(c) 122860 (d) 12268
RRB Group-D - 27/09/2018 (Shift-I)
Ans. (b) Just as, Similarly ,
32x2=64 1536 x 8 = 12288
64 x 4 =256
256 x 6 =1536

6.

Find the missing number.

122 (127 | 105 | 48

37 |48 |66 |16

8 |79 |? 32
(b) 38

(d 37
RRB Group 'D' 07/12/2018 (Shift-T)

(@) 65
() 39

59955
-3 -3
Hence, the missing number 59955 will complete the
series.
3. Select the next number in given series.
1200, 600, 300, .
(a) 500 () 75
(c) 250 (d) 150

RRB Group-D — 26/09/2018 (Shift-I)

Ans : (¢) Just as,

Similarly ,

122 -37=285
127-48=179
48 -16=32

105 — 66 =9

Ans : (d) Following series is
=2

1200, 0

I_T IJT

Hence, next number is 150.

4. Complete the number series by choosing
missing number from options.
11, 20, 27, 36, 43, ?, ?, 68, 75

Find the missing number in following term.
6, 30, 150, ?, 3750
(@ 920 (b) 750
(c) 790 (d) 1000
RRB Group-D - 27/11/2018 (Shift-IIT)

Ans. (b) Following series is

So ? will be 750 in place of.

6 30 150 E 3750
LM

x5 x5 x5 x5

8.

Identity missing number.

676 : 841 :: 324 : .............
(a) 484 (b) 361
(c) 441 (d) 400

RRB Paramedical 21.07.2019 Shift : I1I



Ans. (c) : Just as,
26+3
(26): |(29)2
676 841
Similarly ,
18+3 .
18y’ @1y
324 41 . )
Hence, the missing number will be (21)" = 441.
9. Fill the missing term from given options.
8,11, 16, 23, 32, ?
(a) 43 (b) 40
(c) 42 (d) 46
RPF SI 16.01.2019 Shift : 1
Ans : (a) Following series is
8 11 16 23 32

(I I B I Y
5+ 49+

+3 11
Hence, 7=43

10. What will be next number in following series.
51, 46, 41, ,
(a 29 (b) 36
(c) 26 d 27

RRB Group-D — 28/09/2018 (Shift-I1T)

Ans : (b) Following series is
51 46 4.
(I
= -4 -5
=3¢

11.  Select the number that come in the place of

question mark from following options.

42 |44 | 38
23 (55|28
3702139

(a) 22 (b) 33

(c) 66 @ 77

RRB NTPC 30.04.2016 Shift : IT
Ans. (a) : (42 -38)x11 =44
(28 - 23)x11=55

(39-37)x11 =

12.  Select the number that come in the place of
question mark from following options.
5 6 |7
3 4 |§
9 |10 [11
345 (460 | ?
(@) 535 (b) 577
(c) 755 d 775

RRB NTPC 30.04.2016 Shift : 11
Ans. (b) : Column (I)=9 x 5=45=345
3 is written next to 45
Similarly,
Column (IT) = 10 x 6 = 60 = 460
Column (II) =11 x7=77=577

13.  Select the number that come in the place of

question mark from following options.

3 (6|8
5(8)| 4
4 |7 2?
(@ 6 () 7
) 8 d 9
RRB NTPC 30.04.2016 Shift : II
Ans. (a) : Column I, 345 =§ =4
Column II, 6+8 _14_ 7
2 2
Column IIL, % - % _[d]

14. What will come in the place of question mark.

(b) 144
(d 25
RPF Constable 17.01.2019 Shift : T

(a) 64
(c) 169

Ans. (a) : From the first figure.
32 =9, 4% =16, 52 =25, 6% =36
From the second figure.

4% =16, 5% =25, 6> =36, 7> =49

From the third figure.
62 =36, 72 = 49, [8% = 64, 92 =81
Hence,? = 64
15. What will come in the place of question mark.
6 | 6 8
517 5
4 | 3 ?
120 | 126 | 320
(2 4 (b) 8
(c) 12 d 14
RRB NTPC 30.04.2016 Shift : I
Ans. (b) : From the first column.
6x5x4=120
From the second column.
6x7x3=126
From the third column.
8x5%x?=320
7= 320 =8 7=8
40




16. What will come in the place of question mark.
13|54 ?
7 145132
27 (144] 68
(a) 4 (b) 6
(c) 36 (d 42

RRB NTPC 30.04.2016 Shift : I
Ans. (a) : From the first column
13+(7%2)=13+14=27
From the second column
54+(45x2)=54+90=144
From the third column
2+(32x2)=68

7=68-64
7=4
17. Find the number in the place of question
mark.
1 A 6
8 S5, 3 8 e
551 246 ?/2
3 47 9 2 'l
6 8 4
(a) 262 (b) 622
(c) 631 (d) 824

RPF Constable 17.01.2019 Shift : 111
Ans. (b) : Just as,
(8-3), (6-1), (54) =551
(7-5), (8-4), (9-3) =246
Similarly ,

(8-2), (6-4), 3-1) =

18. Find the number in the place of question mark
213
131 8
(a) 45 (b) 29
() 39 d) 37
RRB NTPC 29.04.2016 Shift : 1T
Ans. (c) : It is clear the above diagram that
3x2-1=5
5x2-2=8
8§x2-3=13
13x2-4=22
2%x2-5=

19. Find the number in the place of question mark.

(a 13
(c) 12

(b) 14
d 15
RRB NTPC 29.04.2016 Shift : IT

Ans. (a) : Just as,
2x2-1=3 253
5x2-1=9 5-59
6x2-1=116->11
Similarly ,
7x2-1=137—>13
Hence, 7=13

20. What will be come in the place of question
mark from following options.
F¢
‘,

Rig
() Ly
(d Lo
RRB NTPC 29.04.2016 Shift : 1

(@ Kj
(c) Ky

Ans. (b)
B3 D3 F6
+6l +2 +6l |+3 +6l +5
H 1, Lt =?
+6l w2 F 6[ +3 +6l +5
N7 P‘) R16
Hence, L; will come in place of ?

21. What will be come in the place of question
mark from following options.
A7 D9 Gll
Jo ? [P
S11 V13 YIS
(@ My (b) Li
(© M (d) Ny
RPF SI 16.01.2019 Shift : 11
Ans. (a)
Ay D, Gy
+9| |[+2 +9| |+2 +91 l+2
Jg My P
+91 +2 M|+ "'91 +2
Sn vl3 YlS
22.  Select the number that come in the place of
question mark from following options.
1 |23
11 |7 (5
120 (45| ?
(@ 19 (b) 17
(c) 16 (d 15

RRB NTPC 27.04.2016 Shift : 1

Ans. (¢) : Just as,
A1)?=1)*+120=121
(7)?*=(2)%+45=49
Similarly , 52=3%+x
x=25-9=16

RN
VDY




23.  Select the number that come in the place of

question mark from following options.

3|15 |4
7385
31?15
(@ 15 (b) 18
(c) 19 d 20
RRB NTPC 27.04.2016 Shift : I
Ans. (b) : From horizontal rows.
Just as,
Bx4)+3=15
(7x5)+3=38
Similarly ,
(B3x5)+3="?
Hence,

24.  Select the number that come in the place of
question mark from following options.
18| 24 | 32
12| 14 | 16
3| 4
72 (112 | 128
(a) 2 (b) 3
(c) 4 d 5

RRB NTPC 27.04.2016 Shift : 1

Ans. (b) : Just as,
(18+3)x12=72
(32+4)x16=128
Similarly , (24 +x) x 14=112
2 _q
X
x=3
Hence, ?7=3

25.  Select the number that come in the place of
question mark from following options.
13|12 5§
17|15 8
25 (24| ?
29 (2120
(@ 7 ®b) 9
(c) 15 d 11

RRB NTPC 27.04.2016 Shift : 1

Ans. (a) Just as,
132=122+52=144+25=169
172=15%+ 8> =225+ 64 =289
292 =212+ 207 = 441 + 400 = 841

Similarly ,
252=242+ %2
X2 =625-576=49
x=7

Hence,

26. Assuming that the numbers in each of the
following figures follow a similar pattern, select

the option that can replace the question mark

(?) in figure C.

84 81 88
l1al12| [is| o] |2 [n
A C
(@) 81 ®) 21
© 6l @ 16

RPF Constable 18.01.2019 Shift : I

Ans : (d) Just as,
84+12x2 =14
81+9x2 =18

88+ 11x2 = [16]

So ? will be replaced by 16.

Similarly ,

27. Assuming that the numbers in each of the
following figures follow a similar pattern, select
the option that can replace the question mark
(?) in figure C.

12\( 8 16 7 2321
80 207 ?
A B C
(a 210 (b) 321
(c) 184 (d) 241
RPF SI 16.01.2019 Shift : 111
Ans : (¢)
12 2
12-8=4 _
Y 12482 20720x4=80
80
16 7
16-7=9 _
7/ 1647 2 23023%x9=207
207
25 21
25-21=4
Y 254 21= 4604634 =184
?
28. Assuming that the numbers in each of the

following figures follow a similar pattern, select
the option that can replace the question mark
(?) in figure C.

AYARLYAR
20[9,
A

\24[11/ \\? 13
(a) 26

B C
() 37

(b) 115
@ 36
RRB ALP & Tec. (14-08-18 Shift-III)



Ans : (d)

9%4 | 9+4

5x4 | 5+4 X
=20 =9 =

3x8 | 348
241 =11 =36|=13
Hence, 7 =36
29.  Select the missing number from given series in

given figures below.

(@) 1 (b 2
(c) 3 (d 4
RPF Constable 18.01.2019 Shift : 11
Ans : (a) Just as, Similarly ,
(5)7*=25 1)y’=1
(8 =64
@)=4

30.

Which is best suited to be placed in place of
question mark in the figure.
14|72
3(3] 4
3 (1] 2
49 | 64 | 169
(a 10 (b) 4
() 7 (d) 8

RRB JE - 31/05/2019 (Shift-III)

Ans. (c) Just as,

(1+3+3)*=(7)2=49

(4+3+1)7°=(8’=64
Similarly ,

(7T+4+2)*=(13)*=169
Hence, ?7=7

31.

Which is best suited to be placed in place of
question mark in the figure.

53 2
8 ? 4
6 51
@ 5
© 3

(b) 6
d 4
RRB JE - 28/05/2019 (Shift-I)

Ans : (d)

M5-2=3 ()8-4=2

)6-1=5
5=5

32.

Which is best suited to be placed in place of
question mark in the figure.

9119

313137

(b) 4

d 3

RRB JE - 27/05/2019 (Shift-I)

(a) 2
(© 1

Ans : (d) Just as—
From first row
9x1x9=281
Similarly ,
3x3x3x?2=81
81
7=— 7=3
27
33. Which is best suited to be placed in place of
question mark in the figure.
A
;é" SET)
ANVA."
17 44
(@ 55 (b) 58
(c) 52 d 59

RRB JE - 27/05/2019 (Shift-11I)
Ans: (@) (8x2)-1=16—-1=15
2x9)-1=18-1=17
Ox5)-1=45-1=44
(5x4)-1=20-1=19
(7x4)-1=28-1=27
(7x8)-1=56-1=|53
Which is best suited to be placed in place of
question mark in the figure.

34.

(a) 61
(c) 42

(b) 49
d) 54
RRB JE - 01/06/2019 (Shift-I)

Ans: (c) 8 x (8+1)=72
12x(12+1)=156

6x(6+1)= Hence will be

35. Which is best suited to be placed in place of
question mark in the figure.

|-’) |8 ‘9
3 2 1 5 2 3

(@ 35 (b) 40
(c) 32 d) 38
RRB JE - 30/05/2019 (Shift-I)




Ans : (b) The number given in place of the given
question mark will be as follows.

Just as-

5x2x3-(5+2+3)=20

8x5x1-(8+5+1)=26

Similarly -

9x3x2-(9+3+2)=40

36. Which is best suited to be placed in place of
question mark in the figure.

(a) 34
(¢ 39

(b) 38
) 36
RPF SI 13.01.2019 Shift : I

Ans : (d) Just as,
=>7+2’=11
=11+3%2=20
Similarly ,
=20+4%=
37.

Which is best suited to be placed in place of
question mark in the figure.

i
W
(b) 71
d 68

RRB JE - 31/05/2019 (Shift-I)

(a) 74
(c) 64

Ans : (b) Just as,
8x2+1=17
and 17x2+1=35
Similarly ,
35x2+1=7
70+1=27
Hence, 7=171
38.  Which is best suited to b placed in place of
question mark in the figure.
4 3 1
3|6 |8
21567
23140 ?
(a) 51 (b) 54
(c) 58 (d 47

RPF Constable 18.01.2019 Shift : 111

Ans : (¢) Just as,
4)y>+@3)y-2=23
16+9-2=23
23=23
(3 +(6)*=5=40
9+36-5=40

Similarly ,
1)+ @8y°-7="2
1+64-7=58
?7=>58
39. Which option will complete the relation given
below?
8(246)3
3(213)7
3?2?75
(a 156 (b) 5615
(c) 165 (d) 516

RPF SI 13.01.2019 Shift : 111

Ans : (2) Just as,

8 (246)3
8x3=2452+4=6 = 246
3(213)7
3Ix7=21-52+1=3 =213
Similarly ,

375
3Ix5=15>1+5=6 = 156

40. Which is best suited to be placed in place of
question mark in the figure.

15 18 21

90| 75| |108] 90 2 (105
(a) 108 (b) 126
(c) 84 @ 136

RRB JE - 25/05/2019 (Shift-T)

Ans : (b) Just as,

><6< 15 75 ><6< 18 ")XS
90 | 75 108] 90
Similarly ,
(2L
1261105

41.

Which is best suited to be placed in place of

D

question mark in the figure.

PP

(@) 318 (b) 336
() 312 (d) 324
RPF Constable 19.01.2019 Shift : I

Ans : (d) Just as—
18-7=11=(11)*=121
42 -25=17= (17)* =289
Similarly —

40 = 40

54-36=18 = (18)* =324




42,  Which is best suited to be placed in place of

question mark in the figure.

5 6 7 8 9 5
\ N A\

18 2 27

1 3 4

() 32 (b) 39
() 41 d 27
RRB JE - 25/05/2019 (Shift-IT)

Ans : (b) Just as,
5x6-(5+6+1)=30-12=18
and 9x5-(9+5+4)=45-18=27
Similarly ,
T7x8—-(7T+8+2)=56-17=39
Hence, 7 =39
43.  Which is best suited to be placed in place of
question mark in the figure.
6 |9 1|7
3|5]|2
107 (?
30 (28|25
(a) 4 (b) 5
() 3 d 6

RRB JE - 02/06/2019 (Shift-III)

Ans : (b) Just as,
(6-3)x10=30
(9-5)x7=28
Similarly ,
(7-2)x?=25
44. Which is best suited to be placed in place of
question mark in the figure.
2143
3168
6 |75
20 (46 |?
(a) 48 (b) 40
(c) 43 d) 45

RRB JE - 02/06/2019 (Shift-III)

Ans : (¢) Just as,
3x6+2=20
Tx6+4=46

Similarly ,

5x8+3=43
Hence will be ? =43

Which of the following option would best

complete the relation given below?

45.

9(541)6, 7(633)9, 4(2??7)8
(a) 123 (b) 321
(c) 213 (d) 312

RRB JE - 02/06/2019 (Shift-III)

Ans:(b) 9(541)6=9%x6=54—> 5-4=1-> 541
7(633)9=7%x9=63>6-3=3—>633
4(77)8=4x8=32>3-2=1->1321
Hence will be ??7? = 321

Which is best suited to be placed in place of

question mark in the figure.

484g576 225AW289 mo
" - )
256 81

46.

529
(a) 41 (b) 53
(c) 57 (d) 48

RPF Constable 19.01.2019 Shift : IT
Ans : (d) Justas -

(2224)- = 22424423 =69

23y
oA
)

Similarly —

2 2

515A17) = 15+17+ 16 =8
(16y’

Hence, m

47. Which is best suited to be placed in place of
question mark in the figure.

at

(b) 71
(d 110
RPF SI 12.01.2019 Shift : I

=8+10+9=27

(a) 98
() 82

Ans : (d) Just as,
Tx(7-1)=42
9xO-1)=72
Similarly ,
11 x(11-1)=110
Hence will be ? =110
Which of the following option would best
complete the relation given below?
19(413)22
11(431)32
42(2?7)12
(a) 145
(c) 514

48.

(b) 541
(d 154
RRB JE - 22/05/2019 (Shift-I1T)

Ans : (b) Just as,
19(413)22 > 22 +19=41
—>413 {+4-1=3}
11(431)32 > 11 +32=43



—>431 {-v 4-3=1}
Similarly ,
421712 > 42 +12=54
—> 541 {+-5-4=1}
Which is best suited to be placed in place of
question mark in the figure.

49.

30
(@) 92 () 112
(c) 89 (d) 105

RRB JE - 26/05/2019 (Shift-IT)

Ans : (b) Just as,
36—2 5722 5144

15—2 530—>2 560
Similarly ,

28—2 5562 ,[112]

Hence, [2=112]

50.

Which of the following number will come in the
place of question mark in given figure below?
2140
1 (2|4
3 (1|3
36?91
(b) 59

d 73
RRB NTPC 12.04.2016 Shift : I

@) 25
(c) 48

Ans. (d) : Just as,

@*+1)Y+@B)P=8+1+27=36
and  (0)’+ @)’ +(3)’=64+27=91
Similarly ,

P+ +(1)y’=64+8+1 =|73]

Hence, m

Type -2

51.  Select the can option that replace the question
mark in given figure.
pa ?

N

Ans : (d) Just as the number of lines in the first and
second figure are the same (four-four), same as the
number of lines in the third and fourth figure will be the
same (four-four). So option (d) is correct.

52. Which of the following figure will replace the
question mark in following.
Ra|2Q]| || |Ra| ||| D ?
v \QL [ VO] 20| [ 70| RO
A B
0|70 RQ|720
¥alpua 4030
C D
20(\0 \Q|¥0
(@ B () D
© C @ A

RPF SI 12.01.2019 Shift : 11

Ans : (¢) When moving from one picture to another in
the given figure series, the shapes are gradually getting
displaced in each field. Thus the appropriate picture (c)
for the question mark will be.

53.  Which of the following option will replace the
question mark in following series.

O

(a) B
(c) D

?

B
(d) A
@ C
RRB Group-D - 28/09/2018 (Shift-II)
Ans. (b) : In the given question picture there will be
picture A in place of question mark.

A B C D Hence option (b) is correct.
54. Which of the following option will replace the
| / f ﬁ D <> question mark in following series.
() A (d D

RRB Group-D - 24/09/2018 (Shift-1I)




A B C D
(@ A (b) B
(© D d C

RPF Constable 19.01.2019 Shift : 111
Ans : (¢) The first figure in the given question figure
is a mirror image of the second figures. The pattern of
the third figure is present in the figure 'D'.
Hence option (¢) is correct.

55.
H@ | ¥ | HO©
O¢ | 0@ | O™
@D | D ?
Which of the following pictures will come in
the place of '?' in above figure?
O || D || @ || =
A B C D
(@ C b A
(c) B (d D
RRB Group-D - 03/10/2018 (Shift-II)
Ans : (a) In the given question figure, one circle is

decreasing in the first and second lines respectively

from left to right, same as in the third row also there

will be two circles in the answer figure.

So ? the figure C will come in place of .

Hence option (a) is correct.

56. Select that answer figure which will come in
the place of '?' in question figure series
Question figure:

@

Answer figure

51|

AOO0 mleoYAN i

A\

A

A B C C
(@ A () C
(© D (d B

Ans : (b) According to the given information a
combination will from in the answer figure.

A

So ? the figure C will be replaced by.

57.  Select the right option that come in the place of

question mark.

(@) <>
o ()

RRB Group-D - 08/10/2018 (Shift-1I)

(b)

(d

Ans : (d) From the given alternatives the shape of

RRB Group-D - 03/10/2018 (Shift-1I)

58.

option (d) will replace the question mark.
O
@

Find the missing figure in above sequence
A B C D

(@ D () B

(c) A @ c

RRB Group-D — 08/10/2018 (Shift-II)
Ans : (a) Answer sequence D will complete the
question sequence. Hence, option (a) is true.

59.
MO (<4 ;
LA D | K

Which of the following figure fits in blanks
from given figures below.

N W UNZ T

c £\ A v A /\

A B C D
(a B b A
(© D d C

RPF SI 12.01.2019 Shift ; 1T
Ans : (d) In the given figure series the next figure will
be obtained acquired by rotating the preceding figure
90° clock wise. Hence figure C fit in the sequence.




" S| -

Which of the following figure fits in blanks
from given figures below.

A B C D
(b) A
@ B
RRB Group-D — 15/10/2018 (Shift-I)

Ans : (c) Out of the given figures, figure D will on the
blank. So option (c) is true.

(a C
(¢ D

63. Select the option figure which will complete the
question figure series.

Question figure

?
2R [€a t [RA[||2T2Ax]
RS HEAEIEL
Option figure:

A B

 J 0€ *t* | Q€
AR | *2* RA |2

Cc (D

Q{ .t. Q{ .t.
RA [ tAz RA| ¢
(@ D (b) C
(c) A (d B

RRB Group-D - 29/10/2018 (Shift-11T)

Ans : (a) Just as the first figure is related to the third

figure. Same as the second figure is related to figure D.

61. What will be the next figure in following series.
Question figure:
AN
Answer figure:
A B Cc D
(a B b) C
(¢ D d A
RPF Constable 20.01.2019 Shift : 1
Ans : (b) Just as the next figure can be acquired by

dividing the square into 6 parts, same as the figure ¢ can

be obtained by dividing the triangle into 6 parts.

62. Study the pattern given below and select the
figure that relates to the third figure in the
same way as second figure related to first
figure.

Question figure:

MICTEIE

Answer Figure:
Tull="l="l"=
O | P
A B C D

%
(@ C (b) D
(c) B @ A
RRB Group-D — 16/10/2018 (Shift-III)

64. Find the answer figure that comes in the place
of the question mark in question figure series
given below.

Question figure:

AN AN
O o | ?
O L
Answer figure:
SEEE
A B C D
(@ D (b) B
© C @ A

RRB Group-D - 29/10/2018 (Shift-11T)

Ans : (d) Like the first figure out of the first two figure.
First of all, circle under it, square inside it, again place
triangle inside it. Same as, figure A is acquired by

placing the next two figure.

Ans : (c) Just as the first figure can be acquired by
rotating to 90° counter clockwise the second figure can
be acquired by rotating the third figure 90° counter

clockwise.

65. Question figure :

N[Nl -
Select the appropriate figure for blank space
from given figures below.

MRS

A D

(@ A (b D
(¢ B d C

RPF SI 12.01.2019 Shift ; III

|Ans : (d) The figure on the blank will be C.




66. Which of the following figure will replace the
question mark in following series.

Question figure:

O

a o @ 0o ?
Answer figure:
o 0o
oo
] [=]1] 69
A B c D
(@ C (b) D
() B d A

RRB Group-D — 24/09/2018 (Shift-T)

Ans : (c) In the given category in the second picture
two small pictures of the first picture have come inside
to larger circle, same as in place of the question mark,
two small picture of the third picture will come inside

the quadri apteral?

67. Select the can option that replace the question
mark in given figure.

SN IS

i<l gl s

(@a A (b) B
(© D d C
RRB Group-D — 25/09/2018 (Shift-II)

69. Find the next figure for given sequence

Question figure:

& ©®

A B C D
Answer figure:
TR
A B C D
(@ C () D
© A d B

RRB Group-D - 04/10/2018 (Shift-II)
Ans : (¢) The second field contains both small circles
inside the first big circle. Similarly, in the fourth field,
two small A are replaced inside the big A.

70.  Select the figure that completes the given series

Question figure:

]
O

2

Answer figure:

O

©

A B C D
(@ D (b) B
© C @ A

RPF Constable 20.01.2019 Shift : 1T

Ans : (a) The question is on the shape that each picture
has three lines. Hence figure A will replace the question

Ans : (c) Just as the square was formed by adding the
first shape, similarly the circle will be formed by adding

the third shape. Hence option (c) is correct.

mark because everyone else has more than three lines.

68.

A
il U e
ABE
Select the appropriate figure which is
substituted in the place of question mark
AN i
NEAEA N
A B C D
(@ C (b) D
(c) B d A

RRB Group-D - 04/10/2018 (Shift-II)
| Ans : (a) Figure C will be in place of the question mark. |

¥

o

®
o]
@ ?

Select the figure from following which will
come in the place of the question mark in the
above picture series.

O

d4E®

W

V | O

>
w
@)



(a) A
(c) D

(b) B

(d C
RRB Group-D - 05/10/2018 (Shift-I)
Ans. (c¢) : Figure D ? will come in replace of above
pattern because it is clear from the above pattern that
the middle figure is coming in the third shape of each
TOW.

72.  Select the next option will come in following

series.

) e

A B

a7y

[Fs 28 | ZHE

c |D

2N [ aA 2N aa

F3 4+ aF t
(@) C (b) A
(c) B (d) D

RRB Group-D — 09/10/2018 (Shift-I)
|Ans. (a) : The next figure of the series is given in C. |

73. @l@@ @

Find the missing word in above sequence.

2= [@||=
A B (o} D

(a A (b) C

(c) B (d D

RRB Group-D - 09/10/2018 (Shift-I)
Ans. (d) : In the given sequence the figure are rotated in
a clockwise direction in a certain order to obtain the
next shape, hence the missing figure is described in D.
74. Which figure will be next from question figure
option.
Question figure:

STERI
SER

RPF SI11.01.2019 Shift : I

Ans : (c¢) The first figure in the question figure is
rotated 180°. Same as the third figure will also be

75.
& E% i &
o' e’e’ |e@F
Find the absent figure in above sequence
e £3 3 t
A B C D
(@ A () D
(c) B @ cC

RRB Group-D - 10/10/2018 (Shift-I)
|Ans : (d) The series will have a absent figure (c). |

76.  Which of the following figure will replace the
question mark in following series.

)
KE|OK| I[N [Twellllan [ 5N
SN |~ o2 | OK|||| ©K | €
A B
OLN oV N |~
YE€ [ 3N ORK | K€
C D
€| OK K[ ve
IN [ QA 0A | K€
(@ C b A
(© D d B

RRB Group-D — 10/10/2018 (Shift-I)
Ans : (b) It is clear from the question figure that the
shapes are being replace 90° Clockwise, so option (b) or
figure (A) will be the correct answer figure.

71.
(A% 0O
Okl ® [}k_

Absent figure of the above sequence.

Ba [ 5¢] | aF

1
O %

i

ml 5%

A C D
(@ A (® D
© C d B

RPF Constable 20.01.2019 Shift : 111

rotated 180°, which will substitute option A.

Ans : (d) Instead of absent picture there will be picture

B. Hence option (d) is true.




78.
° o 0| o o 9
- -
’AO ODO oDo
Correct figure which is replace the question
mark, that is-
O O d
C L PN J ]
oL e L0 L
60 070 e o
A B C D
(@ D (b) B
() A d C

RPF SI11.01.2019 Shift : 11

Ans : (a) Figure D will replace the question picture. So

option (a) is true.

79.  Select the option that is related to the figure C
in the same way as the figure B is related to

figure A.
O@O o o ?
A B c D
Ao [0 s [«(Ee] o<
1 2 > 4 3
(@ 5 (b) 3
(c) 2 d 1

RRB Group-D —24/10/2018 (Shift-I)

Ans : (d) As a line is decreasing when moving from
the figure to another and a shaded circle is formed in the
middle keeping both the blank circles out of the shape,
In the same sequence, figure-1 will be given in replace

of the question mark.

80. Select the correct figure from answer figure in

the place of question mark.

AHE

Answer figure:

N

?

5

"~

#,

A B C D
(@ A (b) C
(c B (@ D

RRB Group-D —26/10/2018 (Shift-11T)

Ans : (d) Here the second figure is the water image of’
the first figure so the water image of the third figure is

figure D so the desired shape will be option (d).

81. Select the correct figure from answer figures
which will be next in the order of the five given

figures

IS

PR BRI BAlER
Elonlut

(b) A

(d) B
RRB Group-D - 30/10/2018 (Shift-IIT)
Ans. (d) : Like the shaded part of the first figure leaving
one food and reaching the next, making another shape.
Moving beyond the fifth figure in the same sequence,
figure B will be required.
82. Identify the pattern which is Follow the next.

esiEsiiszlN

A B C

(D
(© C

D

D [eF |eq (6
(a) B (®) A
(c) C (d) D

RRB Group-D — 30/10/2018 (Shift-11T)
Ans. (d) : In the given option picture D follows the
pattern.
83. Which answer figure will replace the question
mark?
Question figure:

&l

Answer figure:

A B C D

AN

(@) D (b C
(c) B @ A
RRB Group-D - 06/12/2018 (Shift-II)
Ans. (a) : The triangle formed in the question picture is
rotating clockwise. Hence the answer figure will be
figure D.




84. Which answer figure will correctly replace the

shady area?

w R *
* *
® (b)
° *
I k-1
© @

RRB Group-D - 06/12/2018 (Shift-IT)
Ans. (b) : Will correctly substitute (b) replace the given
shaded area.

85. Select the can option that replace the question
mark in given figure.
Chsticn Figus
Iy
- ? rIJ Y
J i 'u@
& s & d
finrwer Fimne
i i e ff
1 4 3 4
(@2 (b) 3
(©1 (@ 4

RRB Group-D - 06/12/2018 (Shift-IIT)
Ans. (c) : In the given question figure, one line is
increasing in each next section and clockwise is rotating
90°, so answer figure A will be correct in replace of|
question mark.

86. Which answer figure will replace the question
mark?
2
Answer figure:
A B cC D

W&

(@ D
(c) B

(b) A
d C
RPF SI 11.01.2019 Shift : IT

Ans : (b) The first shape is rotated 180° clockwise and
the second shape is acquired. Same as rotating the third

figure 180° clockwise will get the answer figure A.

87. Which answer figure will replace the question
mark?
?

F [ Q ++ | F4 IVAE:

t |/ a\ | a Q [sF
Answer figure:

A B

+ | Q s\ | Q

F3 A/l [ +

C D

Q | a\ Q [ &\

Fa | £+ Fi |+
(@ D (b C
() B @ A

RPF Constable 22.01.2019 Shift : 1
Ans : (b) Answer figure C will replace the question
mark as the next figure is formed by rotating 90°
clockwise and displaying the (+) sign twice.
88. There are two group of figure in given question
below. A, B, C and D group the question figure
and 1, 2, 3 and 4 answer figure. In A and B.
there is a definite relation, to
Question Figure:

.| €p
Pl R

=

Answer figur

?
D
-©
4

{@

(b) 3

d 4
RRB Group-D - 27/11/2018 (Shift-I11)
Ans. (c) In the replace of question mark, figure 2 will
come.
89.

(@ 1
() 2

Which option will come in the place of question

mark?
: @ : L7




(@) (b)

O

(©) (d

RRB Group-D - 26/11/2018 (Shift-IIT)
Ans : (d) The number of next figure arms in the given
series 1s increasing so ? in replace of option (d).
90. Question Figure :

O

Select the correct figure from given figure
below which is appropriate for blank space in

above question figure.
Answer figure:

?

A B C D
(@ C (b) B
(© D d A

RRB Group-D - 15/11/2018 (Shift-IT)
Ans : (d) Answer figure A is appropriate for the spaces
in the given question figure series. Hence option (d) is
correct.

(@ (b)

4 F
0 .0

RRB Group-D — 12/11/2018 (Shift-I)

(©)

Ans. (a) : As the mirror image of the first figure is the
second figure, same as the mirror image of the third

figure will be to option figure (a).
93.  Select the option that is related to the figure C
in the same way as the figure B is related to
figure A.

Question figure :

OB ||

A B C D
Answer figure:

1 2 3 4 5
(@ 3 ®) 5
(©) 2 @ 1

RPF SI11.01.2019 Shift : 111

Ans : (d) In the same way that figure A is divided into 8
parts and figure B is acquired, same as figure C divided

91. Select the option that is related to the third
figure, in the same way as the second figure is
related to first figure.

Question figure

D@

+

Answer figure

&9

A B C ¥}
(a) B () D
(© C d A

RRB Group-D — 15/11/2018 (Shift-IIT)
Ans : (c¢) In the first figure the inner figure is rotated
45° clockwise and the second shape is acquired. Same
as the third figure has 45° rotating clockwise will be
give fourth figure C.
92.  Select the correct option.

L |

in to 8 parts will get answer figure 1.
94,

Select the correct figure from given figure
below which is appropriate for blank space in

above question figure.

A B C D
(@ C (b) D
(© B d A

RRB Group-D — 12/11/2018 (Shift-IIT)
Ans : (c) Just as the arrow made in the first question
picture is in the opposite direction to the arrow made in
the second question picture.
Same as the arrow made in the third question picture
will be in the opposite direction to the arrow made in
answer figure B.
So answer figure B will be the appropriate figure for the

A B C

blank space.




Select the can option that replace the question
mark in given figure.
Question figure:

Sy
O o

A B
(@ A
(¢c) D

95.

?

1

& o=

C
(b B
@ C
RPF Constable 22.01.2019 Shift : 111
Ans. (d) : In the given question figure, the answer in the
blank space will be figure C Because the position of the
picture in the question figure is being interchanged and
the picture is moving in 90° Anticlockwise direction.

. =

correct figure that fits appropriately

-

2 4
D

?

Select the
in blank space in above serie

™

A B C D
(@ C (b) A
(c) B (d D

RRB Group-D - 05/11/2018 (Shift-II)
Ans. (d) : In the given series, option (d) will be the
correction fit figure.
97. Which figure will come in the place of (?) in

given series.

Question figure:
5] O

1=

(o]

£

Answer figure:

Al A Al A
ol8]|o|A
A B C D

(@ A (b) B
(© D d C

RRB Group-D - 05/11/2018 (Shift-IIT)
Ans. (b) : The single figure is further combine into the
picture. So figure B will be appropriate in replace of the

Which figure will come in the place of (?) in

G

98.

(@ @ (b)
©) @ (d) £9

RRB Group-D — 02/11/2018 (Shift-I)
Ans. (a) : In the given figure (a) will be found on the
blank space.

99. Which figure will come in the place of (?) in

T
(_é—) (b)
&

?

?"
@ {I}

RPF SI110.01.2019 Shift : I
Ans. (b) : The square made blank in the figure is
painted in the next figure. Same as the image of the
coloured ball will be the next shape blank.

100. Which figure can next?

(a)

(c)

RZAMRIRE ) | S E=S f)
= 1P QY || [/l g
+ [O] 1. Q) 11Q FEH O [FE
s SN R N EEa L N ES
A B C D
(@ C (b) B
(¢) D @ A

RRB Group-D — 02/11/2018 (Shift-I)
Ans. (c) : The next figure in the given figure will be
figure D.

> |V <®

A B C D
Select the appropriate figure for blank space

from given figures below.

o\

(b)

question mark.




QQ
©) \/ (d) \/

RRB Group-D - 02/11/2018 (Shift-IT)
Ans. (a) : In the given picture the option (a) will be
correct in place of the blank (?).
102. Select the appropriate figure for blank space
from given figures below.

- O C. D

)| [O

Answer figure:

A A

Ol

A B C
(@ C
(B

(
Y

Nt

D
(b) D
d A
RRB Group-D — 02/11/2018 (Shift-III)

Ans. (c) : In the given replace of and square of sphere.
Same as on changing the picture of A (triangle) and
rings, answer figure B will come. Picture figure, like a
circle is formed in square in place.
103.Select the option that is related to the third

figure, in the same way as the second figure is

related to first figure.

Question Figure:

) = =]
& | @ |«
Answer figure:
| = | = |lm =] = |
€« | ::)j; M
(e = jie = | | = =]
A B C D
(@ A (b) D
© C (d B

RRB Group-D - 01/11/2018 (Shift-IT)
Ans. (d) : Answer figure B is related to the third in he
same way as the second figure is related to the first

PRE

104.
Select the correct figure appropriate for blank

space.
2w [
A B cC D
(@ C (b) D
() B d A

RRB Group-D - 01/11/2018 (Shift-1I)

Ans. (d) : In the given question figure? The shape in
replace of the symbol is contained in option (d).

10S. Complete the Figure X from the given
alternatives 1, 2, 3, 4

9
(X)
Vﬂﬁ%ﬁ%
1) 2) 3) 4
(@ 1 by 2
(c) 3 d 4

RRB NTPC 11.04.2016 Shift : 1
Ans. (d) : In the given option, figure (4) will be the
figure in replace of the question mark.

106. Complete the Figure X from the given
alternatives 1, 2, 3, 4

1) 2 3 4)
(@ 1 ®) 2
(c) 3 (@ 4

RPF SI 10.01.2019 Shift : III
| Ans. (b) : Option (b) will complete the given image. |
107. Select the Answer Figure that correctly fits in

the blank space in the given Problem Figure.
Problem Figure

Answer Figures
90w( |

A B C D

(@ D (b) B
© C @ A

RRB ALP & Tec. (30-08-18 Shift-T)



Ans. (a) : In the blank given question answer given

(@)D E correctly space of the picture, the in answer

option can be field and appropriately.
108. Look carefully at the sequence of symbols to

find the pattern.
O el|lAa O 0 O A
A O o [0 e

Which of the following will replace the (?) in
the sequence?

110.

?
Select the correct figure for blanks space given
above.
(@) (®)
(c) (C)

RRB Group-D — 30/10/2018 (Shift-II)

Ans. (d) : Figure (d) will complete the figure that comes

in replace of the question mark.

A @ O @
(a) (b)
O O O A
® O ® O
(c) (d
O A A O
RRB NTPC 29.03.2016 Shift : I1I
Ans. (¢) :
o e||A O e O |O0 A
A O] |® O O Al |O @
180" Rotate W
109.
Select the correct figure which can fit right in
blanks space
A B C D
(a C (b) B
© A (d D
RPF Constable 22.01.2019 Shift : ITI
Ans: (¢)

=KD

Here we see that a closed shape has been by increasing
the 5 lines to 6 lines, So the next closed figure will be a

line in corse.

\_/
U Figure — A

l?

11
]/

Select the correct figure for blanks space given

"~

above.

A B C D
(a A (b) B
(D @ C

RRB Group-D - 02/11/2018 (Shift-IT)
Ans. (c) : In the given picture? The figure D form in
replace of the symbol will be D.

112.
(N J
°17?
]

® ®

00| 00
Which figure will complete the blank space.
L L

® oo { ] ( X J
| X L e L
m [
A B C D

(@ C (b A
(¢ D (d B

RRB Group-D - 12/11/2018 (Shift-IT)
Ans. (d) : In the above picture figure will be figure B,

Hence, option (c) is correct answer.

which completes the blank space.




113.

Lo
7|2

Which figure will complete the blank space.

R
3
N

N RS 3%|f °x
A B C D
(a B (b) D
© A d C

RRB Group-D — 12/10/2018 (Shift-IT)
Ans. (d) : The figure C in the question picture will

replace the question mark.
114.
oo
(o] fo)
o : o]
oOVvVo

*
%

=
CROCD| ?
\_/ \_/
Which option is appropriate for above (?)
question.
AIREISAIEA o
CE® e )| |l o) |C
© oP \ C
A B C D
(@ D (b A
(¢ B @ C

RRB Group-D - 04/10/2018 (Shift-I)
Ans. (c) It is clear from the option figure that the
answer figure B will come from the replace of question
mark.
115. Select that answer figure which will come in
the place of '?' in question figure series

/\
\
A ?
AN M P
(A) (B) © (D)
(@ D (b) B
© C d A

Ans. (d) : Figure A of the question will complete. So

option (d) is correct.

116.
55,

pRiny

Select that answer figure which will come in
the place of '?' in question figure series

x5 (o S
oy oy

B x

A B C D
(@ D (b) B
() A d C

RPF Constable 24.01.2019 Shift : I
Ans. (c¢) : Answer figure A will come in replace of|
question mark.

117.

o3
~]+
m (| ?

Select that answer figure which will come in
the place of '?' in question figure series

X| 8| |H

8

(0.0)

(A) (B) © (D)
(@ C (b) B
() D d A

RRB Group-D — 01/10/2018 (Shift-II)
Ans. (a) : In the replace of question mark, figure C will
come because all the parts are growing in each figure so
option (a) is correct.
118.

?

Select that answer figure which will come in
the place of '?' in question figure series.

(A) B (©) (D)
(@) B (b) A
(¢) D @ C

RRB Group-D - 01/10/2018 (Shift-IIT)
Ans : (d) Figure C will come in replace of question

RPF SI 05.01.2019 Shift : I

mark (?).




119.

AL 2

Select that answer figure which will come in

the place of '?' in question figure series

(A) (B) ©) (D)
(@ C (b) B
(c) D @ A
RRB Group-D — 01/10/2018 (Shift-1II)

Ans : (a)

D

Hence, figure C will come in replace of question mark.

120. Which option will replace the question mark in
following series.

[

B

(@) A
(¢ D

-

(b) B

Sl |SE

RRB Group-D — 28/09/2018 (Shift-I1T)

122. Complete the Figure X from the given
alternatives 1, 2, 3, 4

solloloRe

X o)) 2 3) 4)
(@ 1 ®) 2
(c) 3 a 4

RPF SI 05.01.2019 Shift : 1T

Ans. (a) : Just as on the left side there is only one type
of picture, same as on the right side there will be same

type of picture.

Ans : (c) In the given question figure, the first figure is
a mirror of second figure. Image of the third figure is
depicted in figure D.

Hence option (c) is correct.

121. Complete the Figure X from the given
alternatives 1, 2, 3, 4

?

(X) )] (2 (3) 4
(@) 1 (b) 2
() 3 d) 4

RRB NTPC 07.04.2016 Shift : 111

Ans :(b) Answer figure (2) in the given figure

complete the question figure.

123. Complete the Figure X from the given
alternatives 1, 2, 3, 4

A2
¥

X) Hmn @ 6 &
(@ 1 ®) 2
(c) 3 a 4

RRB NTPC 27.04.2016 Shift : III

Ans. (a) : Answer figure (I) will fill in the blank space
of the question figure.

124. Complete the Figure X from the given
alternatives 1, 2, 3, 4

N

2 | A

AN

X m @ 6 4
(@ 1 ®) 2
(c) 3 a 4

RRB NTPC 27.04.2016 Shift : III
| Ans. (d) : Picture (4) completes the given figure.
125.

Complete the figure x with the help of one of
the given alternatives a, b, ¢, d.

X)

(a) (b) © (@
RRB NTPC 26.04.2016 Shift : III
Ans. (a) : Answer figure (a) will complete the blank

space of the question figure.




126. Complete the figure x with the help of one of
the given alternatives 1, 2, 3, 4.

x)

(@) (b) (c) (d)

RRB NTPC 26.04.2016 Shift : 111
Ans. (c¢) : Answer figure (c¢) will fill in the blank of the
question figure.
127. Complete the Figure X from the given

alternatives 1, 2, 3, 4

iz

1) (2) (3) C))
(@) 1 (b) 2
() 3 d) 4

RRB JE 27.06.2016 Shift : III

RRB NTPC 11.04.2016 Shift : III

Ans. (a) : The given question figure will complete
answer figure (1).

128. Complete the Figure X from the given

alternatives 1,2, 3,4

ZE’E

)
QA

@

(c) 3
) RRB NTPC 11.04.2016 Shift : III
Ans. (a) : Answer figure (1) the given question will
complete the figure.
129. Complete the Figure X from the given
alternatives 1, 2, 3, 4

S

X

(1) ) 3) 4)
(@) 1 ®) 2
(c) 3 (@ 4

RPF Constable 24.01.2019 Shift : III
Ans. (b) : Question figure (X) will complete option
figure (2).
130. Complete the Figure X from the given
alternatives 1, 2, 3, 4

?

X)

]

) E

{1

) ()] 3 “4)
(@ 1 (b) 2
) 3 (d 4

RRB NTPC 11.04.2016 Shift : I

Ans. (b) : Option figure (2) will complete the pattern of]
the question figure.
Complete the following figure with the correct
option :

131.

(b)
RRB ALP & Tec. (17-08-18 Shift-I)
RRB ALP & Tec. (10-08-18 Shift-1T)

(©) (d)

Ans : (b) Answer figure (b) will complete the given
question figure.

132. Complete the following figure with the correct
option :

Question figure

Aqsvs;éi{.ﬁ'gug'e

o[’ 9"

A B C D
(@ D () C
(c B d@ A

RPF SI 05.01.2019 Shift : 111

Ans : (d) Answer figure A completes the given question

figure.




133. Fill in the missing space with the correct
figure:

(@ D
(c) B

(b) A
@ C
RRB ALP & Tec. (14-08-18 Shift-II)

Ans : (a) Just like 'monkey’ eats banana same as the
'rat' eats cake. so option (a) is correct.

134. Select the option that can replace the? Symbol
in the following figure.

Jial

(@)

© ﬁ @ é

RRB ALP & Tec. (30-08-18 Shift-I)

(b)

136. Select the option that will correctly fit in the
blank space in the given figure.

‘?

(@ (b)

(©

a4 va
4 oa

RRB ALP & Tec. (30-08-18 Shift-I1T)

Ans : (¢) It is clear from the picture that option (c) will
complete this question figure.

Ans : (b) In the given question figure, the answer figure
given in option (b) of the answer matches.

137. Select the option that will fit in the blank space
in the given figure :

/A

(@)
4a N\

(b)

(d

A
DA e A

RRB ALP & Tec. (29-08-18 Shift-1T)

Ans : (d) The picture given in option (d) will complete

the question picture.

/(éi\i?
So option (b) is correct.

135. Select the option that will correctly fit in the
blank space in the given figure.

/o2
\& 2

(@) (b)

= 2
@ B

RRB ALP & Tec. (30-08-18 Shift-11T)

(©)

138. Select the option that will correctly fit in the
blank space of the following figure :

‘)

(a) W (b) @
=

RRB ALP & Tec. (29-08-18 Shift-1I)
RRB ALP & Tec. (20-08-18 Shift-I)

©

Ans : (d) The image given in option (d) will appear

Ans : (a) The picture in option (a) will complete the

correctly in the blank space.

question picture.




139. Select the option that will correctly fit in the

blank space of the given figure:
5 N 5
al

?

(@) (b) © (d)
RRB ALP & Tec. (29-08-18 Shift-II)
Ans : (a) The figure given in option (a) will set
correctly in the question figure.

140. Select the option that will correctly fit in the

blank space in the following figure.
J (]
"| ?

@ NI (®)
© A @ f
RRB ALP & Tec. (29-08-18 Shift-I1T)

Ans : (a) The given question picture which as follows.

L

"| ?
In this, the image given in answer option (a) in the
blank space (?)

Will be filled correctly the correct option. so option (a)
is.

141. Select the option that will correctly fit in the

blank space in the given figure.

?
(@) (b)
(c) (C))
RRB ALP & Tec. (29-08-18 Shift-11I)

Ans : (c¢) The given question picture, which is as
follows.

?

picture given in option (c) of the answer in the blank
space (?) of the above picture.

Will fit correctly. so option (c) is the correct option.

142. Select the appropriate figure for blank space of
below figure from below options.

A
\W

B

AS

(2)

N\

(c) (d)
RPF SI 24.12.2018 Shift : I
(b) Option (b) the given figure will fill in the

N

(b)

Ans :
blanks.

143. Select the option that correctly fits in the blank
space in the given figure.

AN
"N 7

® |

@ [

RRB ALP & Tec. (20-08-18 Shift-I)
RRB ALP & Tec. (15-11-18 Shift-IIT)
RRB Group-D - 15/11/2018 (Shift-IIT)
| Ans : (d) Option (d) complete the given figure. |

N

(©

144. Select the appropriate figure for blank space of
below figure from below options.

@ w {7

© & o =
RRB ALP & Tec. (20-08-18 Shift-I)
Ans : (a) The given figure forms a square inside the
circle. The figure which is in option (a) will complete
the question figure.
14S5. Fill the blanks with correct ﬁgure.

'1)

.-——

!

N\
X
C

——

D



(@ D
© A

(b) B

d C
RPF Constable 25.01.2019 Shift : I
Ans : (c) Just as the upper part of the first picture is
shown in the second picture, same the upper part of the
third picture will be shown in the fourth picture (?), so
the figure in the blank will be (a).
146. Choose the correct figure that appears on the

question mark.
$ ||+
-?—
?

-

—?
)

._

)

A B C D
(a C (b) B
(¢ D d A

RRB ALP & Tec. {7-08-18 Shift-III)
Ans : (d) Answer figure A will be in replace of]
question mark.
147. Select Answer Figure that will correctly fit in
the blanks space in the Problem Figure.

N7

€KX
JAVAL

S|/ 1e]°C

A C
(a) B (b C
() D (d A
RRB ALP & Tec. {7-08-18 Shift-III)
Ans : (d) The figure will be in replace of the question
mark.
148. Choose the correct picture which follows:

&4
"
X

(b) B
@ A

(@ D
(¢) C

Ans : (¢) The first picture in question is a image of
second picture.

So the image of the third picture will be C.

So option (¢) is correct.

149. Select the option that will correctly fit in the
blank space in the following figure.

() (b)
© IS @

RRB ALP & Tec. (10-08-18 Shift-1T)

Ans : (a) The given question figure completes figure

(a).

150. Select the option that will correctly fit in the
blank space in the following figure.

Lld |1
RN
| [1]2
Options
T
A B C D
(@ B () D
() A @ C

RRB ALP & Tec. (10-08-18 Shift-II)
Ans : (¢) The figure "A" of option C matches the blank
in the given question figure/picture.
151. Choose the correct figure that replaces the
question mark.

ﬁ%i
T
H#| 2
TPRARE
A B C D
(@ C b)) A
(© D d B

RRB ALP & Tec. (10-08-18 Shift-IT)

Ans : (a) Figure C complete the given question figure
or option (a) is correct.

152. Choose the correct figure that replaces the

question mark.
Problem Figure

RRB ALP & Tec. (14-08-18 Shift-I)




Answer Figures

156. Select the figure from given options which is

complete the given pattern below.
A B C D
(a D (b) B
(c) A (d C
RPF SI 19.12.2018 Shift : I 9
Ans : (a) Answer will be D in replace of question
mark.
153. Select the answer figure which is appropriate (a) (b)
for the empty space in the given
question/problem figure.
Problem Figure (¢) (d)
.(:). Q -O RRB JE - 27/06/2019 (Shift-11I)
Ans : (d) Option figure (d) will complete the question
v ¢ -(:)- figure.
g '(:)' ? 157. Select the figure from given options which is
Answer Figure complete the given pattern below.
jodseafeiet
A B C D
(@) B b C 9
(c) A (d D -
RRB ALP & Tec. (09-08-18 Shift-I)
Ans : (¢) The answer given here figure 'A' is best suited (a) /\/ (b)
to fill in the blanks of the question figure.
154. Select the option that correctly fits in the blank (c) 7D (d)
space in the given figure.

2
O

o

-

?

Vel sl B @

A B C DJ

(@ D (b) A
© C (d B

RRB ALP & Tec. (09-08-18 Shift-IIT)

Ans : (¢) C option completes according to the given
shape pattern.

155. Complete

the problem figure with
appropriate option from the answer figures.
Problem Figures

B!
3

an

RRB JE - 27/06/2019 (Shift-11T)

Ans : (c) Option figure (c) will complete the question
figure.

158. Select the figure from given options which is
complete the given pattern below.

(@

®

@ E;

RRB JE - 31/05/2019 (Shift-11T)

Ans : (d) To complete the pattern of the given question
figure, option figure (d) is correct.

iRIE
Answer Figures
AAA1X
A B C D
(a C (b) D
(¢ B (d A

RRB ALP & Tec. 00-08-18 Shift-11T)

159. Select the figure from given options which is

complete the given pattern below.

Ans : (¢) Question B will complete the pattern of the
picture in the option given.




> o o]
B

(@ » [0 Ilo
© B

@ B B
o Lol [¢] o IH2

RRB JE - 27/05/2019 (Shift-II)
Ans : (d) Will complete the given figures pattern as in
option (d).
160. Select the figure from given options which is
complete the given pattern below.

(@) (b)

A A
MK

(d)
RRB JE - 01/06/2019 (Shift-I)
Ans : (d) Answer figure of option (d) will complete the
pattern of the question figure.
161. Select the figure from given options which is
complete the given pattern below.

(©)

(@) (b)

=B

d
RPF Constable)25.01.2019 Shift : III
Ans : (c) Answer figure of option (c) will complete the
pattern of the given figure.
162. Select the figure from given options which is
complete the given pattern below.

(©)

(@ &

0
<& -
© <

RRB JE - 30/05/2019 (Shift-II)

Ans : (a) Option (a) will complete the pattern of the

given figure.

163. Select the figure from given options which is
complete the given pattern below.

(a) &
(©) é

(b) é
(d .&

RRB JE - 30/05/2019 (Shift-1I)

|Ans : (b) Option (b) follows the given pattern. |
164. Select the figure from given options which is
complete the given pattern below.
‘)
o) : ®
%
@) &
%
(a) (®)
XY N2,
() (CY)
RRB JE - 30/05/2019 (Shift-I)
Ans : (a) The given pattern will complete option figure
(a)-
165. Select the figure from given options which is

complete the given pattern below.

i
2

(b)

(@

(d)

RRB JE - 30/05/2019 (Shift-I)

Ans : (c) The given question will complete the figure of|
the pattern of the figure (c).

(©




166. Select the figure from given options which is
complete the given pattern below.

72\
AV

o0
o0

(a)
(d)

(c) A:OA
RRB JE - 30/05/2019 (Shift-III)
(c) Option (c) will complete the given pattern

(b)

oo

Ans :
figure.

167. Select the figure from given options which is
complete the given pattern below.

?

(b)

(@)

(c)

/AN
RRB JE - 29/05/2019 (Shift-I)

Ans : (d) The given question figure will complete
option figure (d).

168. Select the figure from given options which is
complete the given pattern below.

d
@ <]‘

RRB JE - 29/05/2019 (Shift-I)
|Ans : (b) Figure (b) completes the given pattern. |
169. Select the figure from given options which is

complete the given pattern below.

©/ NN

(a) 5 (b) %
% o y

RRB JE - 28/05/2019 (Shift-II)
Ans : (a) Answer figure of option (a) will complete the
given pattern.

170. Select the figure from given options which is
complete the given pattern below.
-,

(©

(@

(©) § () %

RRB JE - 23/05/2019 (Shift-1I)
|Ans : (¢) Option (c¢) will complete the given figure. |
171. Select the figure from given options which is

complete the given pattern below.

?
N
DNA
AA
@| N
Kl 12
/]
(©) (@ \V/
%

RRB JE - 25/05/2019 (Shift-1I)
Ans : (d) Hence the answer figure of option (d) to the
blank series will complete.

172. Select the figure from given options which is
complete the given pattern below.

* *

o
X

*

L/

-~




*/
@ ®) /
m *
/ /)
© J @ /
* *
RRB JE - 31/05/2019 Shift-1I)
|Ans : (d) The figure (d) follows the given pattern. |

173. Select the figure from given options which is

complete the given pattern below.

"N

N
N Y
RRB JE - 29/05/2019 (Shift-II)

Ans : (a) The shape of option (a) will satisfy the given
figure.

(©)

174. Select the figure from given options which is
complete the given pattern below.

RRB JE - 29/05/2019 (Shift-II)
Ans : (d) The shape of option (d) will satisfy the given
figure.

175. Select the figure from given options which is
complete the given pattern below.

; +
' +
(o]
K 0
+/\+

@ g ® K7
4
© + 4 o]
(©) + (d 0o
+ ° o
0 +

RRB JE - 23/05/2019 (Shift-I)
(c) Option figure (c) will complete the pattern. |
Select the figure from given options which is
complete the given pattern below.

|Ans :
176.

?

o]

(b)

B
5]

@
(2]

L

E\

(© (d

[@] (o]
RPF SI 13.12.2018 Shift : I
Ans : (a) The pattern of the given figure will complete
the shape of option (a).
177. Select the figure from given options which is
complete the given pattern below.

?
© 2 (d

RRB JE - 26/05/2019 (Shift-T)

Ans : (a) Picture (a) will complete the pattern of the
question figure.

178. Select the figure from given options which is
complete the given pattern below.
4 Y

Wl
s <
< |
(@ (b)
< <
< <




(©) (d)

RRB JE - 26/05/2019 (Shift-II)
Ans : (a) Answer figure (a) completes the pattern of the
given picture.
179. Select the figure from given options which is
complete the given pattern below.

‘)

(@) (b)

4

RRB JE - 22/05/2019 (Shift-I)
Ans : (d) Option (d) will complete the given question
figure.

180. Select the figure from given options which is
complete the given pattern below.
|

N ?
VIV

(c) (d)

tr——1—
(a) A (b) =
|
-~ U
(c) (d)

RRB JE - 01/06/2019 $hift-III)

Ans. (a) The question given in option (a) will complete
the pattern of the figure.
Type -3

What will be the next term in following series.

181.

22C, 42F, 621,
(a) 820 (b) 82L
(c) 82N (d) 82M

RRB Group-D — 28/09/2018 (Shift-1I)

Ans. (b) : Following series is
22C, 42F, 621,

82L,

+20 I

+3

+20 +20

+3
Hence next term will be 82L.

+3

182. Find the next word in this series.

N405, P6Q7, R8S9,
(a) TOU2 (b) TOU3
(c) T9UL (d ToOUl

RRB Group-D - 28/09/2018 (Shift-I1T)

Ans : (d) Following series is

+2 +2

5
rd

N —*25 P
4 25 6 2
O +2 Q +2 >

5 —*25 7 2

+2

+2

v o X™

Sy

+2

Sy

T
> 0
U
1

=]

Note-Here the letter digits are written as unit digits.

183. Which alphanumeric set follows the given

series?
S-81, ?2, 0-49, M-36, K-25
(a) K-40 (b) Q-68
(c) Q-64 (d) V-75
RRB Group-D - 05/10/2018 (Shift-II)
Ans: (¢)
-2 -2 -2 -2
| v v v
S-81 |Q-64] 0-49 M-36 K-25
t ¢
9 @ (7 (6y 5y
Hence, 7=Q - 64

184. Find the missing term in given number.
L-169, J-196, ?, F-256
(a) F-140
(c) H-225

(b) S-101
d) T-92
RPF Constable 18.01.2019 Shift : I

Ans : (c) Following series is

(13 (14 sy Aey

y
L-169 J-196 |[H-225] F-256
-2 -2 -2
Questions mark will be replaced of H-225.

185. Find the term that comes in the place of
question mark in this series.
N-100, K-81, ?, E —49, B-36
(a) T-120
(b) U6
(c) H-64
(d) B-64
RRB Group-D - 29/10/2018 (Shift-III)



Ans : (¢) Given number series is as following.
-3 -3 -3 -3

A

N-100 K-81 H-64 E-49 B-36

(10y oy @&
So question mark will be replaced of H-64.

(6

186. What will be the next term in given series of
terms below?

22A, 42E, 621, ? ........
(@) 82M (b) 820
(c) 82K () 92N

RRB Group-D — 28/09/2018 (Shift-I)

Ans : (a) The series is as following.

+4 +4 +4
[ v vl
22 A 42 E 62 1
[ M M
+20 +20 +20

Hence, ? = 82M
187. P3RIMJ3Q%W@/NSESXY1#8

Find the missing term using the above

sequence.
MN% : %XM:: WX@:  ?
(a) EQ#
(b) E#Q
(c) $83
(d $8E
RRB Group-D - 04/12/2018 (Shift-IIT)
Ans. (c)
Just as, Similarly ,
M— 50 w8
N—H X x—4 58
%—=2 M @—253
In the given order, the + sign is used when right
increases + and — increases left.

188. Find the missing term from options.

CAB:312::?7:1324
(a) BAD
(b) SAD
(c) MBD
(d) ADD
RPF SI 19.12.2018 Shift : IIT

Ans. (¢) Just as,

CAB

iy

312
MB D
L1
132 4
Hence, ?=MBD

So option (c) is correct.

Similarly ,

189. Fill in the blanks.
23 _C__7FG__5D__8
(a) B,54,E, 9
(b) B,69,E, 10
(c) B,45,E,9
(d) B,64,E,9
RRB Group-D — 16/11/2018 (Shift-II)

HI

Ans.(d):23BC67 FG45DE&89HI

Here the series has been moved by writing the number

of places of the first letter and the letter after it.

190. What will be the next term in following series.

C3, 015,
(a) B2 (b) Al
(c) 726 d C3

RRB Group-D - 12/12/2018 (Shift-I)

Ans. (b) The series is as follows.
C3 Ol5

Lt ¢

+12 +12
Because the English alphabet consists for 26 letters and
the 27th letter start with A again.

Hence the next term in the series will be Al

191.

Find the next word in series.

7ZW2623,VU2221,
(a) SR1819
(b) RS1819
(c) RS1918
(d) SR1918
RPF Constable 25.01.2019 Shift : III

Ans. (b) Given number series is a following.

ZW2623, VU2221, RS1819,
L4 LL29 Ll A4

Letters are written as local value.




